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Reference Sheet

A detachable reference sheet will be included in each of the three test books. For Grade 6, the

reference sheet will look as follows:

Grade 6 Mathematics Reference Sheet

FORMULAS
A& Triangle Area = %bh
b
] Volume = lwh
h ! Right Rectangular Prism -
i w Volume = Bh
CONVERSIONS

1 centimeter = 10 millimeters
1 meter = 100 centimeters = 1,000 millimeters
1 kilometer = 1,000 meters

1 gram = 1,000 milligrams
1 kilogram = 1,000 grams

1 pound = 16 ounces
1 ton = 2,000 pounds

1 cup = 8 fluid ounces
1 pint == 2 cups

1 quart = 2 pints

1 gallon = 4 quarts

1 liter = 1,000 milliliters
1 kiloliter = 1,000 liters

1 mile = 5,280 feat
1 mile = 1,760 yards
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Grade 6 Conversion Sprints

# Correct

cm

600 cm =

l1km=

mimn

10 cm =

min

500 mm =

cm

s 100 m=

cm

cm

41000 m=___

| 4500 m =

km

1000 mm =

cm

300 cm =

1.5km=

9 | 4000 mm =

91| 6000 mm =

cm

| 6000 tm =

cm

cm

| 550 cm =

24 |12 mm=

cm




Grade 6 Conversion Sprints # Correct

lcm=_10O  mm 4km=Hooo m
lm=_10¢ cm 600 cm=_ (, m
lkm=_100C m 8m=_%000 mm

10cm=_106_ mm 500mm=_50O cm

50 mm=_Lcm

10m=_lCO0 cm

1000 m=__ | km 4500m=_Y.9 km

7m=_ 100 cm

1000 mm = ‘ m

300cm=__2A m 1.5km= 1500 m

4000mm=_4Y m 6000mm=_{ m

2m=_760 cm 6000 mm=_(s00 cm

4m= _Hoo cm 550cm=_5.9 m

12 mm = L»Z cm

2km= ZDDQ m




Grade 6 Conversion Sprints # Correct

1' I kg = g 38 S00me=" ¢
2 Salep=flul Lt ol 14 Slegi—r a0

S 2 kg — g f5 00008 — S e
__:3;,'4:?:_. WO g=_ g o loke=_ ¢

i 2000g=_ ke &7 1400mg= g
- e me ] o00s-_ 1
7 |2g= me MG | OdB 2= 0
o8 6000mg=____ g PR 0197 ko= = g
© Pl s o) Bl
10 2o 450isi=ti i s o e Ake —275eg=_+ = o
11 SikgslUoim= L S e A BIGEE) ko = 300g=" . g
12 Aileail Qg =iie | ] wiio DAL\ o= IO = T e




Grade 6 Conversion Sprints

# Correct

=N o

13

00 g = oL S

iiikg:: Dbeo g

S5kg= 9000 ¢

2o lcdpie

15

10000g=__ 1O kg

14000g=_Y ke

12kg=[1000 g

2000g=__ 2 ke

_17_

1400 mg= | -4 ¢

i 1g:IODD mg

3200g=_H. 2 kg

'Zgzﬁpoo mg

19

6.432kg= (o152 g

1 6000mg=_Llo ¢

IS kg =Gl

2k 300g="2500 ¢

sz 300 z= HE0 s

10

Zked50ie = LHES0 o

22.

4kg —275g= 3725 ¢

5kgl05g=510% g

23

2kg —800g=_1200 ¢

12

4kg10g=_Holo ¢

6kg —195g= 5304 ¢




Grade 6 Conversion Sprints

# Correct

B lgal=_ = = qt 13 | 2pt= ¢

Peel 2pal=_ - qt 8 dc=2°  floz
;.-3 | L) = ol 15 Do B R e
.;4 | =y el e 16 |4 qt= ©

5 Siqu= pt e 10gt=_ -~ ¢
o (WOpr= i 18| 2qt= pt
.= 7' e il __19 [Spti=— C
8 20ipi= 20 | 2 pt = fl oz
O 2c= . flez Pal 3.5gal=_ gt
@3 2 c = pt P98 logal=_ . ¢
alellie| 6 ¢c= pt PR 2gal=_ - C
Dl 4gal= gt s dical=1 - pt




Grade 6 Conversion Sprints

# Correct

1

4c=_3ADL floz

16

10gt=_HO ¢

2qt=_Y4Y pt

2= :722— fl oz

21 BiSroali— IH qt

10|2c=_ 1 pt

22 | gal = _LL__ C

11 Gic = OB aint

3

2wl = Ne T

‘:‘ 12 4 gal = [LD qt

2 4|4 =T L)




Grade 6 Conversion Sprints # Correct
1 |1yd=__ f 13 10yd=__ fi
2 [1ft=__in 14 |5yd=__ fi
20l 2ft=  in 15l4f=
dE 3ft=  in 16 48in=___  ft
5 |1yd=_  ft 17 |4yd=__
6 [3fi=_ vyd 18 |72in=__ vd
7ol 2yd=_ 19|7yd=___
8 |60in=__  ft 20 [12ft=_____in
9 |lyd=__ in 21 2§yd=—ft
104 2yd=____ _ in D 5.5 ft= n
11|6yd=___ ft 93 [1=yd=_ fi
12|5ft=___ in 24 |30in=__ fi




Grade 6 Conversion Sprints

# Correct

A = L

14

v = 1S ft

74 in

4ft=_4HZ in

|3ft=_ ¢ in

48 in = L_‘l ft

§1yd= Lo

layd=_12

H3ft=_ | yd

10-

L1

93,

.




Grade 6 Conversion Sprints

# Correct

13

'l |160z=_ Splor—ea D
Desl 11b = 0z 4 2 1b="" ' 0z
8 %20=____ b 5| 6doz=____Tb
e 20000b=""" = fons EGE S000ibi=""""r 0 tons
5 | Stons= 1b 17 [ESHtons = L Sssssilb
6 10lb=_ oz 18|9b=___ oz
7 5lb=_ oz 9 25hb=_ oz
.8 i LSgonS =l bivlb PO 0 250ons = LB
9 Sillo) 3l evh= 0z 2 1}: [B3¥0z o o= i IS 7
1(.). 2o BEe7— 0z BP9 Y0z +90z=11b | oz
11|11b320z=_____Ib |23 150z +100z=1b___ o2
B2 21b480z="—" b @ 150z +7o0z=11b " oz




Grade 6 Conversion Sprints

# Correct

R o P

13 2 o= Vil LIl

e

s

2Ib=_ 37 oz

R

15| 6toz=_YH b

=

tons

16

8000 b= Y tons

| 5tons=[D0o0 Ib

1.5tons= 3000 1b

1101b=_|(,0 oz

18

9lb= |HY oz

i sib= 30 oz

19 5 =0 o7

: 4ISitons = f]DDD b

0.25tons=_S00 1b

| 31b3oz= CJ)‘ 0Z

21

130z +£5iez=]1 1b Z 0z

10

2oyl Sieys — H% 0Z

29

90z +90z=11b 2/ 0Z

1 1

1b320z=_4% 3 1b

-

150z +100z=11b q 0Z

12

b A%ior — ) e Ib

24

150z +70z=11b (o 0Z




